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(MFER 9] Wol) : ox18+2 =378
O0=378x2+ 18 = 42(cm)
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14 x 14 + 2 = 98(cm?)




3. o =& Wol7}l 112em? 2t & uf, Lo 7]

=

% em 1A FSHA L.

> HE 14em

16xO0+2=112
O=112x2=+16
0= 14(cm)
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oFER 9] Ho] & (12x2)xO+2 =192
24 x O = 384
O = 384 + 24 = 16(cm)
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> HEhD 450 cm?

(A2 R.9] Ho])= 36 x 25 + 2 = 450(cm?)
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(£59) Hol)—(aHE 9] Heol)+(KeteZe] Ho))
=8%x6+2)+{(9+12)x4+2}
= 24 + 42 = 66(cm?)
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(8+12)x10+2+ (12+20) x 8+ 2
= 100 + 128 = 228(cm?)
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{6x3+2+(24+6)x5+2} -2x4+2+8%x2+2
=0+20-4+8 = 33(cm?)
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AMAF BEO| Yol A Yol ]
(7F=)x18 + 2 = 270
(7F=)=270x2+ 18
(7F=)=30cm
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(8x[ ]+2)+(12x22+2) =192,
8x[ ]+2=192-132 =60,
8x[ ]=60x2,

[ ]=120+8

D=15(cm)




